11 October 2023 09:55

- 9(L+B)
T i g |

e = — - M43 =043 = 20

square whoes ares then find the area of , ——
5 o e = LD(ZOT‘
A ss00m e [ 02 ke 5 O
B.510cm? ‘ S R = \9 )
,Q.NU> L

C.420 cn¥? pru-=
D.480 crm?

om?

58) A train crosses a tower In 20.25 seconds
and also crosses a 150 m long bridge In 27

seconds. Find the speed of the train?
A. 60 kmph —_
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stream Is 7 kmph, then find the speed —» Nok - a-b.
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Directions (81-85): Read the following
Information carefully and answer the quesions.
The given informasion shows the total number of
fans (ceiling and table) sokd by four derent
shops A, B . Cand D

Celling Fan: Ratio of the number of Ceiling fans

solg by shops A and B is 12 respectively and
difference between the number of Ceil
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63) F Ind the avemge number of celling fans scid
by shops A, C and D together? 64) f the totsl number of fans sokd by shop E |s
A 130 20% more than that of shop D and the ratio of
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Reasoning Ablity
Directions (668-70): Study the following
Information carefully and answer the below
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are atlending the conference on two different g_ '["' ‘N;&
dates either 9 or 11 of fve different months- R L —_—
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68) Four of the five among the following are - . (S U)— |
similar In such a way to form a group, who M T -
among the following dossn't belong to the Mo - =(_*)
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